Verify that EQ \* jc2 \* "Font:Times New Roman" \* hps16 \o\ad(\s\up 12(^),θ) maximizes the likelihood function L(θ; y) if and only if it also maximizes the log of the likelihood function, InL(θ; y). That is, prove that 

L(EQ \* jc2 \* "Font:Times New Roman" \* hps16 \o\ad(\s\up 11(^),θ); y)>L(EQ \* jc2 \* "Font:Times New Roman" \* hps16 \o\ad(\s\up 11(~),θ);y) if and only if lnL(EQ \* jc2 \* "Font:Times New Roman" \* hps16 \o\ad(\s\up 11(^),θ);y)>lnL(EQ \* jc2 \* "Font:Times New Roman" \* hps16 \o\ad(\s\up 11(~),θ);;y)for all EQ \* jc2 \* "Font:Times New Roman" \* hps16 \o\ad(\s\up 11(~),θ);≠EQ \* jc2 \* "Font:Times New Roman" \* hps16 \o\ad(\s\up 12(^),θ)
